L DB ®SLEW’NG DRIVE

& iz v It 5%

Precision Spur Gear Slewing Drive




Company Profile

B PR IA MR A R AR T1999%F, (L T&HETEMHMAIERKX, Sith23E. ATFRK
“UEOHNE. RFZLIK” BMEWES, FT20FNER, BAT —KE WM EZE =i 2K (B3
7%) FEEEREEDEY Al .

el TZNBTEMEEl. el A SFMEM. HKREREES . Rl EEVFD
fa .

FNWZERTHEESKMPNERMMEX, H5EEH. EXFH. XESFEFRNEREILTKENSES
BlEXAF.

NEVERRFESFFEARE . FREWHALF L, AEEREEE S NB, AR FEseil.
FERNARZ G FORREWFREIRS, FHiBid TTUV SUD 1S09001: 20158 & EIB{KARIAIE.

FEiRdhR R EELS "Mt FANZERMATIER" X—R2AERER, MReEERARFNFE
2R, ehiEshtlEeFhiEasE, SGefEd,. BafERrRLR.

Luoyang Longda Bearing Co., Ltd. was founded in 1999, is located in Yiyang bearing industry zone, Luoyang city covers an
area of 23 mu. company adhering to the “Manufacture Elaborately sewe the world" corporate vision, after 20 years of
development, the company has become a professional research, development and production of slewing bearing (slewing
ring) and slewing drive enterprise.

Products are widely used in automatic control, intelligent robots, special vehicles, machine tool rotary tables, forestry
machinery, lifting machinery and other fields.

Our products have been exporting to 71 countries and regions we have established long-term trada cooperative relations
with many customers in Germany, Italy, America, etc.

The company has successively won the honorary titles of high-tech enterprise, city-level enterprise R & D center, Henan
science and technology small and medium-sized enterprise, Henan e-commerce enterprise, Zhongyuan equity trading
center display enterprise, etc. We also passed TUV SUD 1SO9001: 2015 quality management system certification.

LDB closely focuses on the overall development idea of "To be the world famous slewing bearing manufacturer” , speed
up the transformation and upgrading of enterprise and leapfrog development, fully promotes the development of

enterprise towards innovation-driven, green and low-carbon and intelligent manufacturing.

s SR e e L
. ﬁﬁ:ﬁfﬁ:ﬁﬁﬁﬁﬂ‘ e = — o:m | o :

mrm nuunu n iy yi
it IIIIIH mllllm

:‘ Iu, m,nlll " x‘lh ||| ‘I /J_) (‘ rl ( U FJ i § 8 —

|



[FRIEH]

Qualification certificate

AmEREEp el |

e 13
e E NIRRT
SREG 01w RN =S

i

AN
S Y

I R
o 3y

HENAN SMALL AND
MEDIUM-SIZED SCI-TECH ENTERPRISE

NEW HIGH-TECH ENTERPRISE

®
.ﬁE %.

LDB

RS RN AL 1

ISO CERTIFICATE

L DB ®SLEWING DRIVE

TR R Sl R

,4
Jd AL <

SAER. BERILWEANLR

AN AT RE
SMRY MOSUFEC-201707-485
NWMATE AR 2208 T AN

axmn TRy
WA 201757 1271 DR

HENAN E-COMMERCE ENTERPRISE

TR ZERERE
, RO—+ F
- DR

MUNICIPAL ENTERPRISE R&D CENTER

LETTER OF PATENT

opd |



[£7=mhI]

Production and processing

*INITAT R
Machining detail

I




[Fﬂnﬂﬁggl LDB SLEWING DRIVE

Product Introduction

[1] BRA. IMNSEREMANNSREN, RERRTAYUHERESE, HTHERE
MBERMNAETH.

[2)] BEhES, FRR.

[3) RERZHEEGT, REETE, 08 NHE.

[4] £ BABEKEREF®, FBREFPRA, BERIEARZEM, BIPEFR
ILZ| P65,

[5] Sh T 8%

[6] RIFEABILR, B=MARIIFTHIERE, HATREESILIZIT.
[1] Replace the structure of slewing bearing with internal gear | external gear with pinion, the compact
design can effectively save installation space and be easily integrated into existing application units.
[2] High transmission efficiency and high rotation speed.
[3] Can withstand axial load, radial load and tilting moment.
[4] The full protection design can effectively extend the service life, reduce the maintenance cost, improve
the safety of operators and the protection grade can reach IP65.

[5] Appearance clean and tidy.
[6] According to different working conditions, there are three series models to choose and can quickly

make customized design.

[95S15EA]
Code Description

SG-1-0229-25-S - C —-E

\E HME External gear
AtS Internal gear

C: A= Close
O: ﬂ:“t Open




[=&MA]

Product application

[ SG-1-0311]



[Fﬁ,ﬁl -’ LDB SLEWING DRIVE

Product application

I omﬁalﬂiﬂ Machlne tool rotary table 1 I

I .

*EBIAE _Radanvehicle

[ SG-1-1091 ]

Ocl



[ SG-1&%] ]

SG-| Series

= 453

F T

| @362

P

AL

ositioning pin hole

o
Idunting hole

\
--é JHTblE
R S
it

53]
LE
2 "ol

v ™

192

s sz For mosQr connection

B4R ENAYIERB
Lubrication of slewing drive
ARELEB24M 10X 189E i

2 M10X1 grease nipples on the innerring

FARFE MR E2M8X189iEHE

2 M8X1 grease nipples on the housing

B4 3K = AL TR SRR

Slewing drive supplied pre-lubricated

@180 |

JAIAEEQS ©146.5H8 |

10-018 I
2777 % |
INaINSr |

8 / {\\ : RS ¥ |
3§ A \QQ - |
NN ]

1’5%%5 o @235H8 I

@277 |

Wo7

NS
o

o
-

N
o=}
yn'/v.r T

/

~No

N

oo

N

S,

44REE /Tilting moment[k -NM]

-

N

Hnas/Axial log

— RiEHh&/Raceway cur

¢ 0 60 120 280 240 300 360 420

KN

ve

Hi#/Module m [mm] |4
5%/ Teeth number of wheel z2 [ 81
/NS 54/ Teeth number of pinion z1 [ 15 |
Rf&zhtk/Overall gear ration i [ 5.40
_BAH7E/Max torque SFS=1.75 Md max| [Nm] | 2852
tRAERAE/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 2476
B8 A{RIFHE/Max holding torque Mh [Nm] | 2852
REEERTE/Radial static load Coma [kN] | 151
hEFE S/ Axial static load | o [kN] | 439
ZEEEahEE/Radial dynamic load g | kN] 143
HIRBIER)RA/Axial dynamic load Cu {0N | 168
Ei (BERE-300AEDIXAY12KG)/Weight kgl |46
[EF1#/Pressure differentjal APﬁ [bar] | 150
HER /Ol flow |a Wmin |13
A%ﬂﬂiéﬁ/éutput speed n [min-1]| 5
B AB]ik#HE/Max achievable torque Md [Nm] 5352 y




[ SG—I%PIJ ] LDB s cwineorive

SG-I Series
fii#/Module m [mm] ‘ 4
i | Y%/ Teeth number of wheel z2 | 102
TSR N5t/ Teeth number of pinion z1 [ 15
bl o 0 of #8féahtt/Overall gear ration i |0 |es
o/ | BAE/Max torque SFS=175 | Md max| INm_| 3674
trfEHE/Nom torque SF=1 at n=5rpm Md nom | [Nm] | 2520
o BA{RIFHE/Max holding torque Mh [Nm] | 3574
N | BEEENETE/ Radial staticload | Cong | kNI | 198
imEERE R &L {E/Axial static load | Comx | [kN] N7529
‘bpAiotor connection fé@ﬁiﬂ]ﬁﬁ/‘(adia' dynamic load C rad [kN] ‘ 163
Bolt _ ﬁ@@ﬁijjﬁﬁmxial dynamic load Cia [kN] \ 190
iR (S1ERE-300EDAH12KG)/ Weight [kg] \ 52
1
234 _ EHZ/Pressure differential }A P I [bar]_‘ 150 _
~ i " SR /Ol flow Q Vmin] | 15
#4H561%/Output speed n [min—1]§ 5
B A0l iA1HKE/Max achievable torque Md [Nm] ‘ 3574
B4R zNAYIEE
Lubrication of slewing drive
R1E2_EBAIMBX1H9E g
4 M8X1 grease nipples on the inner ring
FAERMAF2MMBX 1R B
2 M8X1 grease nipples on the housing
[B14& 3K zh K7 F 588

Slewing drive supplied pre-lubricated

2268
@243.5 H8
QS
24-314
OOOSNKNNN TN i o
Fr N TN -
= < —
g NN RS ® ¥ < = %7
N R N | e ¥
q ez | R il
N o ¥
ytiegs } @317 H8 £ 40+
& @355 E 32 :\
= F TN
= 41 ‘\
— : NG
= N
- N
= 0
i

90

[—‘—‘—“ i 0 80 160 240 320 400 480 560
e ek Axial load[ kN]
: ! — RiE#ZE/Raceway curve

— R %/Bolt curve R p0.2
22 %H/Bolt class 10.9

01e] |



[ SG-1541 ]

SG-| Series

AL

> xcting hole

W EpLEsE
For motor connection
/ AT

Bolt

__#R&%/Module - m__| [mm) |4
58 U544/ Teeth number of wheel z2 | [ |126
NS U/ Teeth number of pinion (21 | H 15
__i2f&att/Overall gear ration i | [ |840
= @ KHE/Max torque SFS=1.75 Md max [Nm] | 4476
- . - | #REHIE/Nom torque SF=1atn=5rpm | Md nom| [Nm] |3181
B4R ENAYEIE BAFH51AE/Max holding torque M INm] | 4476
Lubrication of slewing drive X . : . | |
12 E4ANMEX 1R R _,fgﬁﬁﬁﬁ?ﬁﬁma.chalsta.mload Corad | [kN] | 261
4 M8X1 grease nipples on the innerring  MEERTE R EETET/Axial static load Coax | [kN] 699
FARFER ML E2AM8X 189F HE REEEEE/Radial dynamic load Crad kN] | 180
2 M8X1 grease nipples on the housing SRS ST s M
B 4618 2 R TS 8 SR EERNF T/ Axial dyr\!amlc load . Cax | kNI |211
Slewing drive supplied pre-lubricated iR (E4ERE-300/EDIAMI12KG)/Weight | | kgl |62
[E73%/Pressure differential AP [bar] |150
i ;‘E}iﬁl@ilﬂowi Q m[l/min-]‘ 17
i1 tH %1%/ Output speed n [min-1] 5
A B[iAH%E/Max achievable torque Md INm] | 4476
@368 - — S L= L2
@343.5 H8
¥IAREQS =
14 —=
X \\\\\§ i = 70+
e A r
8 W EerEel— 3 & AT
N\ i J @ N E » F /\
o h S N v
HATEQS f 2417 H8 = 40 1 N
20-M12 = : N
@455 = -t N
P F \
- 20+
R ; R
w 10 b N
= [
f‘é 0 TS EPEFE IS I S S X
0 100 200 300 400 500 600 700

90

| T “ithndd /Axial load[ kN]

— iRiE#hLE/Raceway curve
— 22 ih%/Bolt curve R p0.2
RieER/Bolt class 10.9

M09



[ SG—I%}“ ] LDB ®SLEWING DRIVE

SG-I| Series
##/Module m [mm] | 4
B %/ Teeth number of wheel 22 [-] 156
f kil L | e /B4 58 Teeth number of pinion. |21 |8 15 |
MERDEL/Overall gear ration i [1 | 1040 |
"""W””' BAIHE/Max torque SFS=1.75 Md max [l\]m] *5;32*.
/" ol ‘m‘ FrfEHE/Nom torque SF=1atn=5rpm Md nom | [Nm] | 4031
BA{RISHE/Max holding torque Mh [Nm] | 5632 |
E REFERREE/Radial static load Corad | [kN] 344
| R EUER T/ Axial static load Gk [kN] 922
2B EEsh#/Radial dynamic load Cind kN] | 201
 HBEEEMNEF/Axial dynamic load Ca [kN] 236
i (81ERE-300/&EDILM12KG)/Weight [kg] 75
1 [EH%/Pressure differential AP |[bar] | 459 |
=% 342 = HER&/Oil flow Q [/min] | 21
e 750 N itHE5E/Output speed n [min-1]| 5
i ﬁkrﬁjiifﬂﬁ/Maxrachievable torque Md INm] | 5632 ‘
E4E 3R BNATIEIE
Lubrication of slewing drive
AE_EB4IMEX 189 EHE

4 M8X1 grease nipples on the innerring
FAEFNRE24M8X1HYiEHE

2 M8X1 grease nipples on the housing
B3R B R FRSE B

Slewing drive supplied pre-lubricated

2498
@473.5 H8
lﬁl_iEQg
ANOOONNNANNN R : =
N RN TN =< 105
8 N \X ekt ® ¥ - =y
\ : JTH N =90 +—A
] é.’ciﬁ\ | N2 e 78 /
HIEQS } @547 H8 = {
28-M12 € 60 N
2585 L \
— L
e il N
304 \\
£ 54 N\
= N\
o 0 ’

”"‘—‘—I i ' 0 150 300 450 600 750 900 1050
T ndi/Axial load|KN]
— RjE#%/Raceway curve
— B2 i%/Bolt curve R p0.2

2% /Bolt class 10.9

90

10M



[ SG-IR%1 ]

SG-| Series

EAEAL

fhecting hole

L AET
Mounting h

|l Sii S
?il hole/ AT A HLE
MBXT

For motor connection

/RN fi
{ Bolt

@
f&&y/Module m [mm] |4
' HEE/Teeth number of wheel z2 [-] 183
L i _ iESSHEEY/ Teeth number of pinion z1 [ 15 |
s A fEahtt/Overall gear ration i [ 1220 |
B - @ AIH5/Max torque SFS=1.75 Md max| [Nm] | 6534 |
R E/Nom torque SF=1 at n=5rpm Md nom | [Nm] | 4675
L@%%’Xﬁﬂﬂ'ﬂﬁf’% | 2 B AR5/ Max holding torque Mh [Nm] | 6534
ubrication of slewing drive i 7 = o =i E |
AR EBAIMBX 13 ZFBMERHT/Radial static load Comd | KNI | 408
4 M8X1 grease nipples on the inner ring I ERE R R/ Axial static load | Comx | [kN] 1092 |
?ﬁg{;ﬂﬂi@ﬁzﬁ\MSX;BﬁEfﬁlﬂf — 2PEEsh#/Radial dynamic load Gt kN] | 215
grease nipples on the housing = : :
51K Eh R S8 »5&@5@3@%’.7‘5//“@ drynamrc load o [kN] | 251
Slewing drive supplied pre-lubricated 8 (B1ERE-300/REDIXAI12KG)/Weight [kg] |85
EHZ/Pressure differential J AP [bar] |155
JHEE&/Oil flow Q [/min) | 23
§iH4%iE/Output speed S [min-11l 5
2598 {8 ArNk1H%E/Max achievable torque Md [Nm] | 6534
@573.5 H8
JAHEQS
14
SN TR = =
i N Z 140+
NIINSNE ® ¥ < ERATAN
N T I b
o b
8 IN £ 10 X
$4EQS } 2647 H8 = 80
32-M12 - = N\
S 60 \
= b
SR
= 04 \
g . \
ﬁ 0 PRI PP PIE IR PP . NPT e
W 0 200 400 600 800 10001200 1400

90

L 17] k% Axial load kN

! — RiE#%/Raceway curve
— 12$#eH%/Bolt curve R p0.2
1242 %% /Bolt class 10.9

W11



[ SG—I%?'J ] LDB ®SLEWING DRIVE

SG-| Series
[ SG-1-0741 ]
1_ ¥/ Module m [mm] |4 ‘
2 | U Teeth number of wheel |22 o207
! AT i NS/ Teeth number of pinion |21 [-] 15
Mounting htje L,ﬁﬁi})tﬁ/%rallgearration i H 13.80 |
b & . | BAIIE/Max torque SFS=1.75 | Md max| Nm] | 7437 |
N\ hate e | RAEHEE/Nom torque SF=1atn=5rpm | Ma on | (Nl _|5362 |
. | B A{RFFHIE/Max holding torque Mh Nm] | 7437 |
3 — REBEBRI/Radial staticload | Cona | IN_|471_|
SEEIE R FRT/Axial static load | Coni [kN] | 1262
\. RREETE/Radial dynamicload lCra | kNl | 226 1
EBEEA sl dynamicload |c, |0 |264 |
Ef (SFERE-300AEDIAMI2KG)/Weight | |kg) |95 |
[EH%/Pressure differential AP [bar] | 155
' i 444 A JHER#/0il flow Q Vmin] | 25
5 o _ ! §fitH§%i#/Output speed :n [min-1]| 5 '
| B AFJiAIHIE/Max achievable torque | Md [Nm] | 7437 |
EIFEIERNAYIEIE

Lubrication of slewing drive

AR EBAMMBX1RYE R

4 M8X1 grease nipples on the innerring
FRFEMIAE2M8X18E

2 M8X1 grease nipples on the housing
(EILE e VA b

Slewing drive supplied pre-lubricated

2698
@673.5 H8
b fiEQg
RN \L\\\\ | N : :
\i\% N 180
8\\|. LT ® ¥ ‘1;)150E \\
= h AN .
SN0 N INZARN
HIAEQS ! 2747 H8 : N\
36-M12 o r N
2785 S 07 \
= 601 N
= P N
= 30 b \
-~ O] O PR P N,
ﬁ 0 200 400 600 800 10001200 1400
T ki /Axial load kN]
e i — iRitifh4s/Raceway curve
— g2 HL/Bolt curve R p0.2
12#%E % /Bolt class 10.9

121



[ SG-1541 ]

SG-| Series

[ SG-1-0841 ]

AL

For motor conneclion

960

| {2#/Module |m [mm] |4
| H5E5#/ Teeth number of wheel 2 [ |23
' | INEiEEE5#/ Teeth number of pinion |21 [ 15 |
‘_ 492 = 2 &aptk/Overall gear ration i [] 15.40
s 1051 o | B/ Max torque SFS=1.75 | Md max | [Nm] | 8339 ‘
| 4RAHRIE/Nom torque SF=1atn=5rpm | Ma rom | (Nm] | 6012 |
E]%S'Eiibﬁﬁil'iﬁ% ‘ ' | BALFFFHHIE/Max holding torque | M [Nm] | 8339 |
;’%’Eg;?@;;lfag;;%séwe REEERE [ /Radial static load | Corad [kN] | 535 |
4 M8X1 grease nipples on the inner ring | HIEVERTEREUFE/Axial static load [Come | [KN] |1433 |
%Wﬁ@ﬂi&ﬁz/ﬁMSXm‘JEiﬁiﬂg . | REEEa#RE/Radial dynamic load lCra  |kN] |237 |
lzilt;ggz;b%;ma;;g;ﬁp/p;Ieesv:’i:g;hderi}\‘/‘;usﬂ;glied pre-lubricated ¢ SHICYBUER) T/ Axial dynamic load | Cax N | 278
| IR (E24ERE-300/& EDikA)12KG)/Weight kgl | 106
“Ejji/Pressuredifferential .AP [bar] | 155
MER/Oiflow lQ | wmini |28
o798 | $1i46#/Output speed ln | min1)s
@773.5 H8 BABTIAHAE/Max achievable torque IMa | Nml 8330
Byos ' ' '
\\\\\\\ SN ] : o
=
I NI o+ 4 ==
o N ! NN ? 240
ks } 2847 H8 1 = 200;
Bl 2885 E 160
>
SRR \
X 0+
l—‘—t—l . s 0 250 500 750 1000 12501500_1750
i nd#/Axial load[kN]
- _— !

= iRiEiL/Raceway curve
— #2#2M%%/Bolt curve R p0.2
1212 %E % /Bolt class 10.9

i3



[ SG-15:%1 ]

SG-| Series

e AE F

EfEAL

Connecting hfle 9 0il hole

TR
For motor connection
PN Fiy e
Bolt

= 1159 -

EEIRNATIEE

Lubrication of slewing drive

AR EB4IMBXTRYE R

4 M8X1 grease nipples on the innerring
FURFEMIBE2M8X 18 E HbE

2 M8X1 grease nipples on the housing

[E146 3R zh R 7l 45335 /Slewing drive supplied pre-lubricated

2898
@873.5 H8
YIAHEQS
44-014
SONNNRNCR N i
Ny |
s NINAOHe—  ® ¥ «
|
8 éﬁ.}\ | Re =
BIAGEQS ! 2947 H8
40-M12
2985

L DB ®SLEWING DRIVE

{8&/Module m [mm] |4
B E#Y/ Teeth number of wheel 22 [ 258
AR EEY Teeth number of pinion i B {15 |
i f&ahtk/Overall gear ration i [ 17.20 |

B KH%E/Max torque SFS=1.75
#nfEHAE/Nom torque SF=1at n=5rpm

Md max| [Nm] | 9242 |
Md»nom [Nm] 668@7‘

BA{RISHE/Max holding torque Mh [Nm] | 9242 _
Z R EREREETE/Radial static load Corad | kN] | 599

| SR/ Axial static load Cone | NI | 1603 |

Vfélﬁmﬁﬂiniﬁﬁmadialdynamic load Cad ”[kN] | 247

imEIEEMETT/Axial dynamic load Ca kN] | 290
M (S1ERE-300/EDIAM12KG)/ Weight [ka] 116
[EF1%/Pressure differential AP | [bar] | 155
JhEit/0il flow 7 il/min] 30
i#iH45%/Output speed i [min-1]’5 ’
ﬁjcﬁjizmiﬁ/ga;achievable torque M: —[Nrr:] ] 5242 |

1204

80 -+ \\
\

0 250 500 750 1000 12501500 1750

s B

— jRi&EfhLE/Raceway curve
— 1242 @h%%/Bolt curve R p0.2
12429 /Bolt class 10.9

141



[ SG-1541 ]

SG-| Series

LAl
Mounting hdlg

?rr>l?lﬂi~{<’-‘:1v’ti!‘|{|.[\)h e 2 i AL
. i l'lfmil?ﬁ‘;iiwl_
/AN fR e
Bolt
2. |
b
| {2#/Module |m mm] |4
, | 55/ Teeth number of wheel 22 [ |29
! i | 5SS 54/ Teeth number of pinion |21 [ 15 |
- B 2 &aptk/Overall gear ration i [] 19.60
- o - | BAHSE/Max torque SFS=1.75 | Md max | [Nm] | 10613 |
| FrAEHRE/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 7681 |
(@146 3R 2 RYAR | BA{RIFIHIE/Max holding torque | Mh [Nm] | 10613 |
Lubrication of slewing drive BRI ES/Radial static load - KNl | 695 ‘
A2 EBAMMBX 1R ‘ . —ttond G o |
4 M8X1 grease nipples on the inner ring | HEJERE R A/ Axial static load |Coan | [KN] |1859 |
FEFMBE2MEX 189 E M REEREET/Radial dynamic load Crd | kN] | 261
2 M8X1 grease nipples on the housing | sargieeahie s /Axial dvnamic load 1 [ 3057‘
B4 3K &) R 458/ Slewing drive supplied pre-lubricated [ HESAUESIMTS) Axial dynamic loa { Cax (kN)
| iR (E4ERE-300/EDIAA)12KG)/Weight | kgl | 132
_E@E“ﬂe differential AP [bar] | 150
ﬁim@l/Oil flow Q | /min) | 35
41tH4%%/Output speed n [min-1]| 5
" | Biedztanh RS Rl (G
— B ATJikH E/Max achievable torque Md [Nm] | 10613 |
©1023.5 H8 ' 1 .
SIAAEQS
48-014
NOONNANNNY |
N N = 0
g N =rf © ¥ s - E
: N TN o o L
N = 30+
2NN s .
= 300
$GEQS } 21097 H8 .
34-M12 S F
21135 = 240 %
= 180: N\
= 1204 \\
g . \
= 60 N
= \
&<
it

s
e S "0 300 600 900 1200 1500 1800 2100
Ry iinds/Axial load[kN]

— JRiEM%/Raceway curve
— 2% ih%5/Bolt curve R p0.2
1842 F % /Bolt class 10.9

W15



[ SG-MZ&%] ]

SG-M Series

Comnecting Ro.

450

BN RYER

Lubrication of slewing drive
A2 EBANMBX TR

4 M8X1 grease nipples on the innerring
FREFENRE2M8X189EHE
2 M8X1 grease nipples on the housing

2] 4% 3K B2 TR 55

0il hole
M8X1

581

252 o

Slewing drive supplied pre-lubricated

H T auplagds
For motor connection
P 7N F e
Rolt

2268
IAHEQS @242 |
20-014 I
| 8 |
R : + % / 3 .
™~ / l | ¥ N @ [
STV L !
] L : !
stios 83155 |
@355 |

]

2

o
'

L DB ®SLEWING DRIVE

{5&/Module m [mm] |6
5B 5% Teeth number of wheel 22 [ 69
/468y Teeth number of pinion AN e
MErALL/Overall gear ration i 8] 460
A/ Max torque Md max| [Nm] | 8191
tRAEHE/Nom torque SF=1atn=5rpm Md nom | [Nm] | 6139
RARFFHE/Max holding torque [Mn | [Nm] ,“5191 i
BREEBEH/Radial static load Comd | [KN] | 181
EREEBE/Axialstaticload | Gow | KNI | 425
REEEEE/Radial dynamic load C,@dip [kN] [1337
| SRR/ Axial dynamic load lew BN |133
MR (2ET-306/EDABKG)/ Weight kgl |80
EHZ/Pressure differential 1 AP Er] ‘ 124
B R/ Oil flow Q |wmm|39 |
HHEE#E/Output speed R o n ”[min-1]‘ 5
B AL E/Max achievable torque Ma [Nm] | 819T

NM]

— P
<o >
e A
7

o

[ae R &}
S~ O

$4881% /Tilting moment[k

0 :
0 100 200 300 400 500 600 700

AN

\

N
N

N\

ind/ Axial load[kN]

— JRitifh%%/Raceway curve
— 22 h%/Bolt curve R p0.2
2E % /Bolt class 10.9

16M



[ SG-MZRJ| ]

SG-M Series

% 3
Mounting bale T F o Bl

For motor «

%

O :AA i " bk dedednd. bk, \ " i
0 100 200 300 400 500 600 700

| #5¥/Module |m [mm] |6
t5EtE/ Teeth number of wheel 22 [ 84
L 207 N | /It5#8 U8y Teeth number of pinion |21 |15
= 671 & | = f&ahtl/Overall gear ration i [-] 5.60
| A/ Max torque | Md max| [Nm] | 10147
| FrEf7E/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 7687
B4R AR | BA{FFFHE/Max holding torque | Mh [Nm] | 10147
Lubrication of slewing drive BEERIeE/Radial static load o kN] | 240
P13 454N MBX 1 B SE B e :
4 M8X1 grease nipples on the inner ring | HEIERTE R H/Axial static load |Coan | [KN] |561
FARFMIDE2MBX 1R HE 2EEEFN#T/Radial dynamic load |Crg | kN] | 147
2 M8X1 grease nipples on the housing T : OO Fags
B IR RIS 38 L imEEREshEE e/ Axial d)‘(namlc load . lea [kN] | 147
Slewing drive supplied pre-lubricated | W (8152-200/EDIAH10KG)/ Weight | | kgl |95
JEHZ/Pressure differential - 7AP [bar] | 190
HEA&/Oil flow |Q | /min] | 28
0368 HtH4&i%/Output speed n | [min-1))5
FI46EQS 9342 | @ ATlikHH%E/Max achievable torque | Md [Nm] | 10147
24-014 | ¢ ]
At LY !
7 ' ' =
- il 8 4 | =70
N 7S | © | >
, — 60
S wég;g/ | =
Y 4 i ] L 50 +
Lytias 04155 | S i N
e 40+
@455 | . I N\
= 0t \\
= N\
= 5
B AN
i N
=
=<
E 1o

] wnd/Axial load[kN]
i °" — jRiEghZ/Raceway curve

— 1B #hEE/Bolt curve R p0.2
12#2 %4 /Bolt class 10.9

W17



[ SG-MZR%] ]

SG-M Series

LA
. _\lntfn’! ing Jile
AL

Connectingole ° T o fLig %
lor rCo

665
l

B4R AN AYIER

Lubrication of slewing drive

W EH4MBX AT

4 M8X1 grease nipples on the inner ring
FARFENILE2MEX18YE B

2 M8X1 grease nipples on the housing
[EI4E 3K R TR 55 R

Slewing drive supplied pre-lubricated

AR B
Bolt

or mofor |'u||ll('|'li+l

@498 |

HIAEQS 2472 ,

32-014 |
LA :

% : % |

d |/ A | \RY |
o | |
BEgS @545.5 !

@585 |

95

L DB ®SLEWING DRIVE

&#¥/Module m | [mm] |6
5B %/ Teeth number of wheel z2 [] 105
A HEEY Teeth number of pinion L
245Nt/ Overall gear ration i B |7
BKH¥E/Max torque Md max | [Nm] | 12837
tgEHE/Nom torque SF=1atn=5rpm Md nom | [Nm] | 9845
RA{RFFHE/Max holding torque Mh | [Nm] | 12837
REEHEEET/Radial static load Corad | [kN] |316
HEEEE A/ Axial static load Com | NI 1739
R EENER/Radial dynamic load Crg | KNl [164
hEEER AT/ Axial dynamic load Ca | kNI | 165
i (8E2-200 EDiAR10KG)/Weight kgl |110
[EH1#/Pressure differential | AP [bar] | 190
HERE/Oil flow o | wmin| 34
i 45i%/Output speed N h [ [min-1]t 5
R APIAHE/Max achievable torque M:4 .[-Nm] -T;2837

715 /\

S\
30+ A\

4B 1% /Tilting momen

0 150 300 450 600 750 900 1050

HndE/Axial load[kN]

— RiEMh4&/Raceway curve
— 12#2ph4/Bolt curve R p0.2
12#2% % /Bolt class 10.9

18H



[ SG-M#&5 ]

SG-M Series

LRI
Mounting D

HI T o pLiE

For motor connectior

AL
Conngetinghole
,*:5
°
|
| {2¥/Module |m [mm] |6
' | SIS/ Teeth number of wheel 22 [ [123
‘ i | IS/ Teeth number of pinion: 21 [ 15
) 905 a f&ahtk/Overall gear ration i [ 8.20
| A/ Max torque | Md max| [Nm] | 14916 |
| fRAERE/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 11508 |
B4R AN AEE | fA{RF5HIE/Max holding torque | Mh (Nm] | 14916 |
b;’,gﬁg;g:‘;;;%‘g;%i%ive REFEREET/Radial static load Corad | KN] | 374
7 | 9% : : e ————
4 M8X1 grease nipples on the inner ring | HEBERER/Axial static load |Cone | KNI |876
FURFEMILE20NM8X 1893 E | ZEEEMNER/Radial dynamic load Crg |NI 175 |
égzg%%;;;ﬁgples on the housing e EERNE/Axial dynamic load o kN] |176
A hEih . : . 1 Cax
Slewing drive supplied pre-lubricated | Wi (B152-200/EDXAI10KG)/ Weight | gl |125
hlfﬁi/&ssurie differential AP [bar] | 190
.”imﬁl/Oil flow ,,Q 7 [l/min]r 38
>@£H§§i£/0utput speed n [min-1]| 5
@598 ' . | AiAH%E/Max achievable torque | Md [Nm] 14915j
JAEQS 2572
36-014 |
7 o | ' —
[ 4 | =
| < )
H i 90 | =120+
= [
g W =z I | L 100 /\
A i ] g F \
HAHEQS F
SAIT2 06455 l £ 0\
2685 | = 604 \
Z 4 :
= 0+ N
g
i 200 400 600 800 1000 1200 1400
. inds/Axial load[ kN]
| o 3 — RiEMLE/Raceway curve
: ! — 242 #h%E/Bolt curve R p0.2

12 %% /Bolt class 10.9

W19



[ SG-MZRJ| ]

SG-M Series

WAL

Connecting hoke

FEAL
L0il hole
MSX1

f
For me

863

459

994

[E4E RN AYEE

Lubrication of slewing drive

R EB4IMBX 189 M

4 M8X1 grease nipples on the innerring
FARFALLE2MEX1RYE B

2 M8X1 grease nipples on the housing
(B4 3R ) R TR S5 i

Slewing drive supplied pre-lubricated

7 Lk

r connectio

RN

Bolt

2698
HIATEQS 2672 |
40-014 |
| |
727
¢ o
¥ | I @
| Y
; %
s |
TS Fo i
o785 |
o %

L DB ®SLEWING DRIVE

[ SG-M-0741)

Hi#/Module _|M  |[mm] |6

B 5%/ Teeth number of wheel 2 [ 138
NS4 EEEY Teeth number of pinion 121 [ |15
21E8ht/Overall gear ration i [ 9.20
R AIHE/Max torque Md max | [Nm] | 16872
trfEE/Nom torque SF=1atn=5rpm Md nom | [Nm] | 13057
BARFFHE/Max holding torque My | [Nm] |16872
R EERER#T/Radial static load Corad | [kN] | 4332
ihEENERRFET/Axial static load Coax | [kN] 1013
REEENFF/Radial dynamic load Cind [kN] | 184
A/ Axial dynamic load o |15
R (81E52-200%EDiXAI10KG)/Weight [kgl 140
[E/%/Pressure differential AP [bar] | 190

| HEBE/Oiflow Q | wminl 43

'?mHjS'?ii/Outputspeed n ‘ [m1n1] 5
hﬁikﬂigfﬂi’é;Max achievable torque Md ' [Nm] ‘ 16872

N

b \\
30+
0 200 400 600 800 1000 1200 1400
in A kN |

— RiEip/Raceway curve
— 821 i%/Bolt curve R p0.2
#812% % /Bolt class 10.9

20



[ SG-M#&5 ]

SG-M Series
[ SG-M-0841 ]

BRI

: ”",] |?”sz| For II;U!({)I'U?HI[:-[;’(‘;\I ion
:ml” : / W /'\‘ lffjlt‘ﬂy:r?
5
| {2¥/Module |m [mm] |6
! | BaEEi5EY/ Teeth number of wheel 22 |[]_ [156
513 | IS/ Teeth number of pinion: 21 [ 15 |
1102 | fEzhtk/Overall gear ration i [-] 10.40
| A/ Max torque | Md max| [Nm] | 19073 |
| fRAERE/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 14805 |
[E3EIKEATIER | BA{RIFHHIE/Max holding torque | M (Nm]_| 19073 |
;;Jb':'t:caﬁt"i:] ofslea\gn;%igélve REEEiEf/Radial static load Corad | KN] | 492
B EE4MBX18ES = i S
4 M8X1 grease nipples on the inner ring | HmIEERE B/ Axial static load |Cone | kNI 1150 |
RAEFMRE2AMEX1R9E b | ZEEEMNER/Radial dynamic load {Crag | kNI 194 |
é;;égg;n?:;ﬁa;;gigples on the housing ImEEsNEB/Axial dynamic load o kN] |195
) VA JibaeiEh f : - i
Slewing drive supplied pre-lubricated | R (B152-200/RFEDAH)10KG)/Weight | kol | 155
[EFZ/Pressure differential AP [bar] | 190
B /Oil flow Q | [/min] | 48
2798 | $iH4%E/Output speed [n | [min-1]5 |
HIAEEQS o772 l _ | AiAH%E/Max achievable torque | Md [Nm] 19073;
40-014 |
7 AN !
j 7 =
4 8 I
i | | © | =
1 ] — 240
< W AR e 4 -
- f ’ = 200
HIATEQS ! l = :
6-M12 2845.5 160 EA
2885 ]

/ ‘\
120+ N
LN

\

oo
o
LB

N

N

O Coaaad ooty lAAl\A P
0 250 500 750 1000 1250 1500 1750
i \ 3 .
wndd /Axial loadkN]
). @ — [RiEifh£/Raceway curve
— 22 Eh4/Bolt curve R p0.2
1212 %% /Bolt class 10.9

EA%E /Tilting mo

95

W21



[ SG—M%?IJ ] LDB ®SLEWING DRIVE

SG-M Series
_#%/Module 'm mm] |6
558/ Teeth number of wheel ‘ 22 [ 174
. 40154/ Teeth number of pinion |21 [ 15
| ol ' ‘2 f&antt/Overall gear ration li [l 1160 |
— BAHHE/Max torque _‘Md max| [Nm] | 21029
" “'W‘ o #RfERASE/Nom torque SF=1at n=5rpm “ Md nom | [Nm] | 16323 |
> AR W A{RISHKE/Max holding torque | Mh [Nm] | 21029
8 - REEEREE/Radial static load ,‘Cgvad [kN] |550 |
ohi pode iMEEE R & E/Axial static load ‘ e (kN] | 1286 |
o EEEEN/Radial dynamic load \ Crad kN] | 201
SHEEERNET/Axial dynamic load co | KNI | 203
EH (8152-200E3A010KG) Weight | kgl | 170
' [EHZ/Pressure differential | AP bar] | 190
1210 ! . HE&/Oil flow }Q | Wmin] | 51
) ) 4 Hi461%/Output speed ‘n [min-1]| 5
HAENAHYE/Max achievable torque N “Md 7 [Nm] 21029‘
B4R AN AYEE —— : — —

Lubrication of slewing drive

A EBAIMBX TR EHNE

4 M8X1 grease nipples on the innerring
FARFMRE24M8X 19 HRE

2 M8X1 grease nipples on the housing
[ 4& 3R & BT FR 5T i

Slewing drive supplied pre-lubricated

2898 |
YAHEQS 872 '
44014 |
AIIIIAiL |
% % '
| i N 94 @ | 280+
< . | } 240 E
- A | 14 B
| ’@‘Z// i i 200+
f;%,('{v'.?; @945.5 : i / \

0985 4
120+ \
80 & \\

5 \
40 ¢
[ 0 250 500 750 10001250 1500 1750
- e m. — RiE#hZ/Raceway curve

— 822 h4/Bolt curve R p0.2
212% % /Bolt class 10.9

221



[ SG-M#&5 ]

SG-M Series

AL
Mounting Jr

HIFrLbLEs: |
For motor conneclion
PN i et

necting hole folt

«
S
AL
0il hole
| {2¥/Module [m [mm] |6
| Ei5#Y/ Teeth number of wheel 22 |[]  [198
! | IS/ Teeth number of pinion: 121 [-] 15 |
B 639 o f&ahtk/Overall gear ration i [ 13.20
—~ 1354 - | B XHE/Max torque | Md max| [Nm] | 24207 |
| tfEHiE/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 18847 |
43Rz AYEIE | BA{RIFHHIE/Max holding torque | Mn [Nm] | 24207 |
Lilbrieation ofstewing orive REFEREET/Radial static load Con kN] | 638 ‘
M3 EEANMBX1R03E : s oy 70 108 |
4 M8X1 grease nipples on the inner ring | HEVERE R R/ Axial static load [Coan | [KN] | 1492 |
FAEFMBE2AMEX 189 EHBE R EEahEE/Radial dynamic load G kN] | 213
2 M8X1 grease nipples on the housing P %/ Axial dvnami - T e leae |
[E] 453K 2 R FRAE 38 '$mﬂsﬁiﬁ1§iﬁ/AXIald¥namlcIoad . lew kN] | 215
Slewing drive supplied pre-lubricated | i (8152-200#ESIAH10KG)/Weight | kgl | 200
[EFZ/Pressure differential AP [bar] | 190
| Mg /Ol flow lQ | wmin| 62
21048 | N_&ﬁi}j%izlomput speed [n [min-1]| 5 |
FAEQS 21022 @ ATJik#H%E/Max achievable torque Md (Nm] | 24207 |
48-014 | - . |
7/ i id !
% [ !
- 9 | A 4 | 350+
™ A 7 © | ;
/ | . ;
sy | | 300+
" / ' i E A
JIAEQS | = 250+ \
VR Ve ©1095.5 | - : \
21135 | ekl
= 1504
=
= 1004 \
i . \
50+ \
0 300 600 900 12001500 1800 2100
: el
o % — JRiEML/Raceway curve
! — g HZ/Bolt curve R p0.2

18 % /Bolt class 10.9

W23



[ SG—H%?'J ] LDB ®SLEWING DRIVE

SG-H Series

1##y/Module [m [mm] |8 ‘
| 5EEY Teeth number of wheel |22 [ 72 |
* /MAIEEHY Teeth number of pinion 21 |1 |15 |
For "”J“f,ru'!l‘l?;f% iz fSM&ahtk/Overall gear ration i [ 4.80 ‘
/ ar/[?“‘;?ﬁ_ B AH5E/Max torque Md max | [Nm] | 26289
™ ttEHEE/Nom torque SF=1 at n=3rpm Md nom | [Nm] | 17209
BARFHE/Max holding torque | Mn [Nm] | 26289
a - e o R EFEE/Radial static load | Corad kNl | 508
S | S/ Axial staic oad o | W1 [ 1360
BmEEEF/Radial dynamic load Crd | KNl 236
‘_@Eﬁ@iﬂ?ﬁ?ﬁ/!\xial dynamic load e [kN] | 275
W (£§%2-132REDILA10KG) Weight | kal |190 |
! [EAH#/Pressure differential I AP | [ba |195 ‘
) e | e /il flow Q [/min | 38
i) H45#/Output speed In [min-1]| 3
&jcajﬁﬁi?@/Max achievable torque Md .—[-Nm] » 26289
ElIEENAEE ’
Lubrication of slewing drive
AR EB3MMBX 189 EhE

3 M8X1 grease nipples on the innerring
FRRFEMIRE2NMEX 1AM

2 M8X1 grease nipples on the housing
(B4 3K = R FR S5 18

Slewing drive supplied pre-lubricated

@395

IAGEQS @355
18-022

AT,

|
|
! =
l i =
o N s | S
8 X i 4 © | = 1
| e 150
o 74 : A | g [
N / ; l E 15
PIAEQS :
TB-120 @457 I g 1004 \\
2516 = i N
~ 7 N
X504 L
£ N
== 0T
i E

0 250 500 750 10001250 1500 1750
, xinds/Axial load[kN]

— ‘ — Rig#h%/Raceway curve
— 1242 #h42/Bolt curve R p0.2
1R+ F % /Bolt class 10.9

118

241



[ SG-HZRF] )

SG-H Series

[}

S )T L

For motor ecLior

iE kAL ‘
Cohnecting Bhle . Bolt

N L | o
0i I\|I\.:‘\”|I(I
| ##/Module i m |8 |
| EIS%Y Teeth number of wheel |22 [ 87
' | /B8 Teeth number of pinion 21 |\ |1s
1L 408 -
L 895 N | 2 feahtt/Overall gear ration b 16 {580
| BAHHIE/Max torque | Md max| [Nm] | 31036
| trfEfHE/Nom torque SF=1atn=3rpm | Md nom | [Nm] | 20510
i | BA{RIFHHE/Max holding torque [Mh | INm]_|31036
Lubrication of slewing drive - - " ; KN
W1E EE4MMEX 119 T g ,éﬂﬁiﬁiﬁzﬁma'dlal sta'tlc load |Coa | [KN] | 619
4 M8X1 grease nipples on the inner ring Y E R A LT/ Axial static load Coax | [KN] | 1658
FARFMLAE2AMBX189iE b R EEENEEH/Radial dynamic load Ced | [KN] | 253
2 M8X1 grease nipples on the housing - - , . T T N
B3R Eh REFRSE R mr‘]ﬁﬁm&ﬁmxnald)\mamlc load . Icax | [kN] | 296
Slewing drive supplied pre-lubricated | R (£2452-132RESIXAI10KG)/ Weight | kgl | 215
JEH % /Pressure differential AP [bar] 195
| i /Ol flow Q [I/min] | 45
@495 | 1) HHE51%/Output speed n | [min-1]| 3
FIAEQS @455 B ATNA#H%E/Max achievable torque Md [Nm] | 31036
20-922 | S -
VA ! —
[y ! =
3 | =
| Y | =="180 '/\\
g 5 S | N\
. i ! £ 1504 \
YJAHEQS | = [
20-M20 2557 £ 1904 N\,
2616 \ o UF j\
=
o :
B 4 N\
w0 N
= N\
0 250 500 750 10001250 1500 1750
] wnda/Axial load[kN]
- ! — iRiE#hZ/Raceway curve

— 242 #h45/Bolt curve R p0.2
122 %% /Bolt class 10.9

W25



